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Instructions for Candidﬁ'tes )

1. Write your Roll No. on the top immediately on receipt
of this question paper. R g _

2. Answer any 5 questions.

3. All questions are divided into sections A and B.
Attempt any 5 questions out of 7 questions from each
of the sections. Section A has short answer questions
and each carries 5 marks whereas Section B contains
long answer questions and each carries 10 marks.

"4.  Answers may be written either in English or Hindi;
but the same medium should be used throughout. the

paper.

P.T.O.



M

aﬁwﬁaﬁm—mwm—aﬁﬁwﬁamm%nm

e ¥ 7 VR N A R 5 W B I AR w7 H g
ST v & T TR 5 3ieh o1 & wieh WE & ¥ ¥ Y I

pECR aﬂw@a? 40 aﬁﬁiﬁT%I ;

mm-wmm aﬁiﬁm%ﬁﬁa@w o 3 €ifore, A
aﬁsﬂmmwﬁﬁma@q '

SECTION-A
Explain why the-IS-. curve slopes down and to the
~ right, ' -

W%ISW:ﬂﬁaﬁiaﬁaﬂta@wgwﬁm%l

If the demand for money i8 independent of the interest

rate, is the LM- curve vertical Of horizontal?
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3. What is the natural rate of unemployment? If the
labour force is 150 million and the natural rate of
unemployment is $% thon find thoe natural level of
employment,
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4. Define aggregate demand. What are (he determinants
of aggregate demand?"
rmmaﬁqﬁwﬁaaﬁlwm;ﬁﬁmzmrﬁ?

5 Define unemployment. Discuss the two principal costs

of unemployment. |
%ﬁmmﬁw%?aaﬁﬁlﬂaﬁa‘rﬂwwﬁfﬂtmﬁaﬁn

6. Explain the relationship between the current, capital

account and financial accounts. |
-q@'(a]% @1@'{6{@1 Sﬂfﬁ?ﬂﬂmﬁ’%?ﬂﬂ'{m’azﬁm'
Ead) |

7. Explain the concept of J-curve.
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Section-B

1. The following equations describe an economy (C, I, G
otc.. as being measured in billions and i as a

percentage)

C = 0.8(1-1)Y
t =10.25

I = 900-50i1
G = 800

L = 025Y —62.51

M/P = 500
(1) What 1s the equation that describes the IS-curve?
(ii) What is the general definition of IS-curve?

(i) What is the equation that describes the LM-

curve?
(iv) What is the general definition of the LM-curve?

(v) What are the equilibrium levels of income and

: interest rate?

%ﬁmaﬁmmmmaﬂ%mﬁﬁ (C.I,G
_mﬁﬁm#wm%ﬁtiaﬁm%mﬁ)
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C = 0.8(1.t)Y

t=10.25
[=900-50;
G = 800

L = 0.25Y - 62.5i
M/P = 500

(i) 18- = i = I
(ii) Is—am =0} ammtr%wram %?
(i) LM- wwmﬁwﬁwﬁww%?
(iv)‘ LM- aaaﬁmwﬁsmwé?
(v) s™& (Y) aﬁtww (i) @ ﬂﬁ?ﬂ Fﬂw %‘.?‘
2. What is the monetary policy? Does an increase in the

money supply have strong or weak effect whep the

LM curve.is steeper than normal?
WA dfy @ 37 VE LM-TEF W Y iR i
' Wm%ﬁﬂﬂﬂiﬁﬁﬁwwm
g e 27
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3.  Suppose that the matkup of goods prices over marging,
cost ‘is 5% and that the wage setting equation i

W = P(l-u), where u is the unemployment rate,

(i) What is the real wage, as determined by e

price-setting equation?
(i) What is the natural rate of unemployment?

(i) Suppose that the markup of the prices over costs
increases to 10%. What happens to the nature
rate of unemployment? Explain the logic behind

your answer.

Wm%mmmmaﬁaﬁwﬁrwms%
2 3R ASied - ﬁa&waﬁww P(1—u)% aauaawna

W Bl
(i) W-ﬁaﬁmmmﬁuﬁamw@w
27 - |
(ii) m'ﬁwﬁw%?

(i) w7 Ao B wmE ¥ it e e 10%
me%taﬂmaﬁmawwzﬁm??
aﬁw%%ﬁwﬁl
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4.

6.

‘ﬂ D ive . : ‘
(a) Derive aggregate supply relationship with the help

of wage setting and price setting relations.
(b) Explain the concept of crowding out effect with
the help of the 1S-LM framewotk.
(37) oRl-Fufkor ok o - oo waedi @ wewr &
RREENISRCHic: i) aﬁ“l |
@) IS-LMa%ra‘?rm%mﬁrr anazu%'ﬂaﬁ SR
?ﬁ ARAT a'Pu

. What are the short -run and medlum -run effects of an

expansmnary monetary pOlle (one time increase
in the nqmlnalﬂ mqney supply), using the AD-AS

framework

mm wﬁmﬁmwﬁﬁ@ﬁm@@ﬁ@ﬁ
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he traditional Phillips-curve show? How

What does t o
augmented Philips curve from

does the expectations

onal Phillips curve?

the traditi
' P.T.O.
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7 (i) Discuss the components of balance of payment,
(i1) Explain the concept of purchasing power parity,
(i) waE ugersr @ e o e wn

(i) mmﬁamaﬁmwnu%mm‘
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